SUMMER 2 2017 MATH 0312

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

HOMEWORK CHAPTERS 6-8

Factor out the greatest common factor. Simplify the factors, if possible.

1) 6wx - 15wy - 9wz
A) 3w(2x - 15wy - 9wz)
C) 6w(x - 15y - 92)

2) 48x7y9 - 24x2yT - 60x4y2
A) x2y2(48x3y7 - 24y - 60x2)
C) 12x2(4x5y9 - 2y’ - 5x2y2)

3) 3x(5x - 3) + 2(5x - 3)
A) (15x - 2)(x + 3) B) (15x + 2)(x - 3)
Factor by grouping.
4)sw+tw+sh+tb

A)(s+wti B) (s+b)(w+1)

5) t2 + 7t+ 4t + 28
A) (t-7)(t-4) B) t(t + 28)
6) 3a+3b-a2-ab
A) (@a-b)@3-a) B) @+ b)(3-a)
7ax+x+a+1l
A) (ax+1)(x +a) B) @+ 1)(x+a)
Factor the trinomial completely.
8) x2 - x-T72
A) (x+ 1) (x-17) B) (x+9)(x - 8)
Factor the polynomial completely.
9) t3 + 343
A) (t+7)(t2 - 7t +49)
C) (t - 343)(t2 - 1)

10) 100k2 - 49m?2
A) (100k + m)(k - 49m)
C) (10k + 7m)2

11) x2 + 4xy - 12y2
A) (X + 6y)(x - 2y) B) (x - y)(x + 2y)
12) 15x2 + 19x + 6

A) (15x + 2)(x + 3) B) (3x - 2)(5x - 3)

B) 3w(2x - 5y - 32)
D) 3(2wx - 5wy - 3wz)

B) 12x2y2(4xy7 - 2y - 5x2)
D) 12(4x7y9 - 2x2y7 - 5x4y2)

C) 3x +2)(5x - 3) D) (3x - 2)(5x + 3)

C) (s+ t)(w + b) D) (s + w)(t+b)

C)t+7)(t+4) D) (t+7)(t-4)
C) (@a+b)(3-b)

D) (a-b)(3+a)

C) @+ x+1) D) (ax +a)(x + 1)

C) (x-9)(x+9) D) (x+8)(x - 9)

B) (t + 7)(t2 + 49)
D) (t - 7)(t2 + 7t + 49)

B) (10k - 7m)2
D) (10k + 7m)(10k - 7m)

D) (x - 6y)(x + 2y)

C) (x-6y)(x+y)

C) 3x+2)(5x + 3) D) (15x + 1)(x + 6)
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13) 6y2 + 17y + 12
A) By +4)(y +3)

Solve the equation.

14) (x + 4)(x - 7)(x - 14) =0

A) {-4,7,-14}

Find all solutions by factoring.

15) x2 + 6x -27=0
A) 3,9}

Find all numbers not in the domain of the function.

16) f(x) = X%S

A) 5

X-8
3-X
A) None

17) f(x) =

2 _

X4 - 49

18) f(x) = —X2 =49
x2 + 2x - 15

A)T,-7

B) 3y +4)(2y + 3)

B) {-4,7, 14}

B) {-9, -3}

B) 0

B) -3

B) -3,5

Express the rational expression in lowest terms.

a2 - 5a

@+7)(@a-5)
a2
a+7

19)

A)

y2 + 10y + 16

20)
y2 + 16y + 64

y+2
y+8

A)

2 _oy-
o) Yo-2y-8
y2+7y+10

A)
y2 + 7y + 10

_y2-2y-8

B)

a+7

10y +1
16y +4

-2y-8
7y +10

C) By-4)(2y-23)

C) {0,-4,7}

C) {-9,3}

C) None

C) 3,8

0)3,-5

©)

a+7

10y + 16

) Ty +oa

y_
<) y+5

D) (6y + 1)(y - 12)

D) {4,7, 14}

D) {-3,9}

D) -5

D) 3

D) 0

D)

a+7

D) - y2 + 10y + 16

y2 + 16y + 64

-2y +8
Ty-7
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Perform the indicated operation and express in lowest terms.

6p-6 _5p2_

22) 5 8p- 8

k2 + 4k

2
oq) K2+ 5K+ 6

k2+ 6k+ 8 K2+ 12k+27

1

A) k+9

2
2) z +13z+36+

B—
)k2+6k+8

72 + 47

22+172+72
z-2
22 + 8z

19 3
®)5-673-6
19(q - 6)
A—
) 3(-6)

26)

72+ 6z - 16
z-2
Z

B)

52

m2 - 7m 10
+

Alm-5

Add or subtract as indicated. Write the answer in lowest terms.

27) — 2

m-2 m-2

Bym-2

7

+
y2-3y+2 y2-1
12y -9

A)

©

4 7
28) — +—
)x 6Xx

y-Dy+y-2)
9y - 12
(y-Dy -

2)

5 30p3 - 30p2
8p2 - 8p
D) 48p2 + 96p + 48
5p3
k2 + 4k k
<) k+9 D) k+9
C)Z_2 ;
722+172+72
16 22
= D) —£5_
a6 ) g-6
Cym+s D)m2—7m+10
m-2
) 28y - 12
(Y-Dy+Dly-2)
D) 9y - 12
(Y-Dy+Dly-2)
31 31
©) o D) -
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Simplify the complex fraction.
X

7
20) —
9) 5

X+8

X+8 X(X + 8)
56x 56

A)

Solve the equation.

31)1-%:%
AL 5 Ii}
2 gt
1.1 _ 1
v VT
A) {-8} B) @

Solve the formula for the specified variable.

1.1 1
33)§+E_ o forc
A)c=a+hb B) c =ab(a + b)

Solve the problem.

34) Martha can rake the leaves in her yard in 5 hours. Her younger brother can do the job in 6 hours.

C) 56x(x + 8)

o)1

C) {2}

O {7}

a+b

C)c= ab

How long will it take them to do the job if they work together?

11
A) 30 hr B) 30 hr

Find the root if it is a real number.
35) A/-144

12
A 144

C) Not a real number

30
C) E hr

B) 12

D) 20,736

8x
7(x + 8)

D)1-a2

D) {-2}

D) {-7}

D)c= ab

D) 6 hr
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36) /16
1

A) 6

C) Not a real number

37) «3/-125

A) 11

Simplify the root.

%) 2L

A) x7

Simplify the expression involving rational exponents.

39) 84/3
A) 64

27Y-4/3

|8
256

C) Not a real number

Multiply using the product rule.
4- 4
41) A2 ~[4
4
A) [6

Simplify the radical. Assume that all variables represent positive real numbers.

10
8, |—=
)\ 2

A)

==

9
43) \ |7

A) 24

B) 4
D) 256
B) -5 C) 25
B) - |x7| C) - x7
B) 128 C) 32
81
256
256
D)%
8
B) /6 C)2

r2

S 08

B) < 0)

o |w

Simplify. Assume that all variables represent positive real numbers.

44) \Jo4 + A0

A) 11

B) 5.5 C) /11

D)5

D) |x7|

D) 16

D) 5

D) 1

D) /73
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45) 83+ 94/3

A) 1743 B) 72+/3 C) 17+/6 D) 51
46) 2A[6 - 9+[24

A) 164/6 B) -16+/6 C) -7A/6 D) -20+/6
47) AJ2x + 24[32x + 872X

A) 5612 B) 57a/2x C) 108/106x D) 11/106x

Multiply, then simplify the product. Assume that all variables represent positive real numbers.

48) 5+ 7)(n/2 - 5)

A) 34/10 - 35 B) /10 - 35
C)AJ10+ 2+/2 - 35 D) AJ10 - 5x/5 + 7a/2 - 35
49) 3 +A/2)2
A) 5+ 6.2 B) 11 + 64/2 C) 11+ 3.2 D) 9+ 6+/2
50) /1313 + A[2)
A) ~[195 B) A/13 + A/26 C) 13+/26 D) 39
Rationalize the denominator. Assume that all variables represent positive real numbers.
8
51) ——
) AJ15
A) 8:/T5 g 815 o) B4/15 D) 233
15 15
2
52) —
) AJ11
A) 123 B) LAV C) 24/11 D) 21
11 11
Write the number as a product of a real number and i. Simplify the radical expression.
53) ~/-16
A) 4 B) 4i C) -inf4 D) -4i

Multiply or divide as indicated.
50) A/-900
/-9

A) -10i B) 10i C) 10 D) -10

Add or subtract as indicated. Write your answer in the form a + bi.
55) [(1+10i) - (9 + 7i)] - (6 - 2i)
A) 16 + 5i B) -14 + 5i C) -14 + 15i D) 16 + 15i
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Multiply.
56) (4 - 2i)(7 + 7i)

A) 42 - 14i B) -14i2 + 14i + 28

57) (10 - 8i)2

A) 100 - 224i B) 164 - 160i

Write the expression in the form a + bi.
6+ 2i
58 -
) 9-3i

5 1. g 4836,

-—i )____

12 65 65

3
1+3i

3 9. 3 9.
~ = ~ =
aETRET) B) 0" 10

50)

Find the power of i.
60) i16
A)i B) -1

61) i13
A1 B) i

Use the square root property to solve the equation.
62) x2 = 25
A) {12.5} B) {5, -5}
63) (x + 20)2 = 64
A) {28,12} B) {-12}

64) (p-2)2=3
A) {\3-2,-~3-2}
C) {2 +[3}

C) 42 + 14i

C) 100 - 96i
14

C) I

O - % + %i

01

C) -i

C &}

C) {-28,-12}

B) {2 +/3,2 - A[3}
D) a3 -2

Use the quadratic formula to solve the equation. (All solutions are real numbers.)

65) a2 + 14a+40=0
A) {4, 10}

B) {24/10, -24/10

66) 5n2 = -10n - 2

A -5+[35 -5-4/35
5 ' 5 }
C)f-5+ 15 -5-4[15]
ol )

10

/'

C) {-20, -8}

D) 14 - 42i
D) 36 - 160i
8 2.

D)5 *5!
3 9.

D) - E - El

D) -i

D) -1

D) {6, -6}

D) {-84}

D) {-10, -4}

B) -10+Af/15 -10-4/15
5 ' 5

D)j-5+ 15 -5-4[15]
1 5 ' 5 }
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Use the quadratic formula to solve the equation.
67) x2+x+6=0 67)

A {-1 +2 3 -1 -;/ﬁ‘} B) [-1 +2i\/£, -1 -Zi@

C)f1+i«/§,1—i«/23\{ D)j1+«/§’1-«/§1
vz T2 RERE




